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QUESTION 1

What purpose does an Oracle Cloud Infrastructure (OCI) Dynamic Routing Gateway Serve? 

A. Enables OCI Compute Instance to privately connect to OCI Object Storage 

B. Enables OCI Compute instance to connect to on-promises environments 

C. Enable OCI Compute instances to connect to the internal 

D. Enables OCI Compute instances to be reached from internet 

Correct Answer: B 

You can think of a Dynamic Routing Gateway (DRG) as a virtual router that provides a path for private traffic (that is,
traffic that uses private IPv4 addresses) between your VCN and networks outside the VCN\\'s region. For example, if
you use an IPSec VPN or Oracle Cloud Infrastructure FastConnect (or both) to connect your on-premises network to
your VCN, that private IPv4 address traffic goes through a DRG that you create and attach to your VCN. For scenarios
for using a DRG to connect a VCN to your on-premises network, see Networking Scenarios. For important details about
routing to your on-premises network, see Routing Details for Connections to Your On-Premises Network. Also, if you
decide to peer your VCN with a VCN in another region, your VCN\\'s DRG routes traffic to the other VCN over a private
backbone that connects the regions (without traffic traversing the internet). For information about connecting VCNs in
different regions, see Remote VCN Peering (Across Regions). Reference: https://docs.cloud.oracle.com/en-
us/iaas/tools/oci-cli/2.9.1/oci_cli_docs/cmdref/network/drg.html 

 

QUESTION 2

What do the terms OpEx and CapEx refer to? 

A. OpEx refers to Operational Excellence and CapEx refers to Capital Excellence 

B. OpEx refers to Operational Expenditure and CapEx refers to Capital Expenditure 

C. OpEx refers to Operational Expansion and CapEx refers to Capital Expenses 

D. OpEx refers to Operational Example and CapEx refers to Capita Example 

Correct Answer: B 

CapEx is Capital expenditures comprise major purchases that will be used in the future. OpEx Operating expenditures
(expenses) represent day-to-day costs that are necessary to keep a business running. 

Reference: https://www.10thmagnitude.com/opex-vs-capex-the-real-cloud-computing-cost-advantage/ 

 

QUESTION 3

Which statement is correct regarding the oracle cloud infrastructure Compute services? 

A. When you stop a compute instance, all data on the boot volume is lost 

B. You can attach a maximum of one public to each compute instance 
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C. You can launch either virtual machines or bare metal instances 

D. You cannot attach a block volume to a compute instance 

Correct Answer: C 

Oracle Cloud Infrastructure Compute lets you provision and manage compute hosts, known as instances You can
launch instances as needed to meet your compute and application requirements. After you launch an instance, you can
access it securely from your computer, restart it, attach and detach volumes, and terminate it when you\\'re done with it.
Any changes made to the instance\\'s local drives are lost when you terminate it. Any saved changes to volumes
attached to the instance are retained. Oracle Cloud Infrastructure offers both bare metal and virtual machine instances:
1) Bare Metal: A bare metal compute instance gives you dedicated physical server access for highest performance and
strong isolation. 2) Virtual Machine: A virtual machine (VM) is an independent computing environment that runs on top
of physical bare metal hardware. The virtualization makes it possible to run multiple VMs that are isolated from each
other. VMs are ideal for running applications that do not require the performance and resources (CPU, memory, network
bandwidth, storage) of an entire physical machine. An Oracle Cloud Infrastructure VM compute instance runs on the
same hardware as a bare metal instance, leveraging the same cloud-optimized hardware, firmware, software stack, and
networking infrastructure. Reference: https://docs.cloud.oracle.com/en-
us/iaas/Content/Compute/Concepts/computeoverview.htm 

 

QUESTION 4

Which is a key benefit of using oracle cloud infrastructure autonomous data warehouse? 

A. No username and password required 

B. Scale both CPU and Storage without downtime 

C. Apply database patches as they become available D. Maintain root level acress to the underlying operating system 

Correct Answer: B 

Oracle Autonomous Data Warehouse is a cloud data warehouse service that eliminates virtually all the complexities of
operating a data warehouse and securing data. It automates provisioning, configuring, securing, tuning, scaling,
patching, backing up, and repairing of the data warehouse. Unlike other "fully managed" cloud data warehouse solutions
that only patch and update the service, it also features elastic, automated scaling, performance tuning, security, and a
broad set of built-in capabilities that enable machine learning analysis, simple data loading, and data visualizations.
Data Warehouse uses continuous query optimization, table indexing, data summaries, and auto- tuning to ensure
consistent high performance even as data volume and number of users grows. Autonomous scaling can temporarily
increase compute and I/O by a factor of three to maintain performance. Unlike other cloud services which require
downtime to scale, Autonomous Data Warehouse scales while the service continues to run. Reference:
https://www.oracle.com/autonomous-database/autonomous-data-warehouse/ 

 

QUESTION 5

Which statement about the Oracle Cloud Infrastructure (OCI) shared-security model is true? 

A. You are responsible for securing all data that you place in OCI 

B. You are not responsible for any aspect of security in OCI 

C. You are responsible for securing the hypervisor within OCI compute service 
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D. You are responsible for managing security controls within the physical OCI network 

Correct Answer: A 

Oracle Cloud Infrastructure offers best-in-class security technology and operational processes to secure its enterprise
cloud services. However, for you to securely run your workloads in Oracle Cloud Infrastructure, you must be aware of
your security and compliance responsibilities. By design, Oracle provides security of cloud infrastructure and operations
(cloud operator access controls, infrastructure security patching, and so on), and you are responsible for securely
configuring your cloud resources. Security in the cloud is a shared responsibility between you and Oracle. In a shared,
multi-tenant compute environment, Oracle is responsible for the security of the underlying cloud infrastructure (such as
data-center facilities, and hardware and software systems) and you are responsible for securing your workloads and
configuring your services (such as compute, network, storage, and database) securely. In a fully isolated, single-tenant,
bare metal server with no Oracle software on it, your responsibility increases as you bring the entire software stack
(operating systems and above) on which you deploy your applications. In this environment, you are responsible for
securing your workloads, and configuring your services (compute, network, storage, database) securely, and ensuring
that the software components that you run on the bare metal servers are configured, deployed, and managed securely.
The responsibilities can be divided as: Reference: https://docs.cloud.oracle.com/en-
us/iaas/Content/Security/Concepts/security_overview.htm 
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